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QUESTION 1

What kind of relationship is an information flow in UML 2.0? 

A. connector 

B. dependency 

C. association 

D. transition 

Correct Answer: B 

 

QUESTION 2

Which classifiers may NOT realize an InformationItem? 

A. InformationItem 

B. Interface 

C. ObjectNode 

D. Component 

E. Signal 

F. Class 

Correct Answer: C 

 

QUESTION 3

Evaluating OCL expressions may cause side effects in which situations? 

A. only when expressing the postconditions of an operation 

B. only when expressing the algorithm of a behavior 

C. in all circumstances 

D. only when the stereotype is used 

E. never 

Correct Answer: E 

 

QUESTION 4
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What is the correct identity of the UML 2.0 infrastructure package A in the exhibit? 

A. Core 

B. Profiles 

C. CommonStructure 

D. Kernel 

E. CommonBehavior 

Correct Answer: A 

 

QUESTION 5

CORRECT TEXT 
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In the exhibit, what two input sets would yield a FALSE result when invoking a ReadIs Classified Object Action?
(Choose two) 

A. A 

B. B 

C. C 

D. D 

E. E 

F. F 

Correct Answer: CF 
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